N UONINLSUL SGUuSsH SHT ) pa.niad auo ag woaf Lana (ot 2105 Po03asny ol
X ad | 5 DIIS JIOAND UL GUO fJIP SIZIS JSDUYT D021 UNOYS SI DTS PUDIS WYSIN

ARY US| Y W € ‘ $10p

5 X
N
“ Y &
001 X 81 ‘
J2MBIP IS1 Ul paydey
sadt- Sa
| #X0g SIY] ul §or g adempIe)y stuauodwed o 1517
TINVA 2AIS .
VY WOLLOY LN
o |~
1300 N3IAOOM WW 01 "VId - N \
(=]
D31 TIVINS
LN Q3IX1434d
Hog IWIN 001 X SIN
A3 ua[y una ¢ )
SHOq W] X §IA Y1 Yllm UMOUS SB
N SpPO0Tase)) 01 8277 |[BWS Sy [ XI]
SUOLIINAISUT A]JGUIDSS

.




Al e M4 x 25
etat Kno

ASSEMBLY INSTRUCTION

PREMIUM CASEGOOD

~ List of components
. 1.Small Leg 4 pcs
7 Packed in First drawer

rall size.
embly instruction

differ only in ove

pictured in this ass

is shown here.Night stand and Chest sizes

our Casegood style may vary from the one

N
Dresser size
Y




) " uononnsur Ajquiasse sty} wr painiord auo sy woxy Kxea Kewr aj4ls pooSase) nox | -

m "3ZIS [[RISA0 UL AJUO IIJIP SIZIS ISIY7)"2I0Y UMOYS ST 9ZIS pueisiyFiN
W W Cs9lON |

O

IoMBIp 1SIL] Ul payoed
sod ¢ 3o
syuauodwod JO ISI]

eI Wwonoyg }

397 [[ewiS

WNTANTId dOOODISVD
'NOLLONYLSNI ATWNASSY




o | BENCH
INSTRUCTIONS

e

[@ Parts in this box — - . | | j

aned) 69 Frame 2 pes Hardware in this box
o apel pron W ()0 : - m
1o - _ )
"'ab\gk\ ' M6 x 40mm JCBC - 4pes M8 x 60mm JGBC - 2pcs
v . — .
= &>
Wood Dowel Barrel Nuts - 2 pos Allen Key
@  «30mm2 ;

@ Assembly Procedure | | j

1. Tap the Dowel to each end of small hole bottom apron,

2. Fix the bottom apron to the leg frame using bolt M6 x 60 mm JCBC Helpful Tips : Fastening of bolts
and barrel nut. ; :

3. Turn the table top frame upside down as shown on diagram. :
X . .l - A screwdriver will help in aligning the
Be sure that the table top frame is laying on flat smooth surface. Barrel Nut hole with the Bolt,

- Check that all hales are free offwoocl hips and sawdust,

4. Attach the Leg Frame to tr?e table top frame using 40 mm JCBC bolits

I . Bottom Apron
Wood Dawel / "
[l i 'a
. ’ i _ Boit M6 x 50 mm
Allen Ke 77 AN
Bolt M8 x 60 rmm // \
Barmrel Nut N
| - /" AN

- I pR—— £ ! —
| Wood Dowel / llen Key :
Bott - : Table top Frame .
o feron LW Pre'inserted Nut ’



DONCO

TRADING COMPANY

ASHLEY

MISSION TABLE

.

This assernbly instruction

Procedure is

shows coffee table assembly.,

the same for both sizes,

(@ Parts in this box

)

Coffee table

End table

(@ Parts in this box

)

Table Top I Pc ( Apron attached ) Leg Frame 2 Pcs W @
o o Allen Key Wood Bution
T e § Pos
] : Bolt M6 x 80 mm  Barrel Nuts
n < l l 4 Pcs 8 Pcs
2 -
' : ’ Bolt M6 x 60 mm
Magazine Shelf 1 Pc 4 Pes
(@ Assembly Procedure )
1.Turn the Table Top upside down as shown on diagram. Ve

Be sure that the Table Top is laying on a smooth flat

surface.

2.Attach the Leg Frames to the Apron using the Longer
Bolts and Barrel Nuts.-LEAVE BOLTS VERY LOOSE Il

3.Fix the Shelf Frame to the Leg Frame using the Shorter

Bolts and Barrel Nuts.

4.When all parts are assembled, gently tighten all the Bolts.
Finaliy lightly tap the Wood Buttons in to the bolt holes.

v

Helpful Tips ; Fastening of Bolts A

Check that all holes are free of
wood chips and sawdust,

A screwdriver will help in aligning
the Barrel Nut hole with the Bolt.
Screw the Bolt in gently the avoid
stripping the threads.

\ J
-Leg Frame Leg Frame———
~Barrel Nut i Barrel Nut .
de Bul‘lon ,t/ arrel Nu Magazine Shelf ﬂ Wood Button
. - L i — = e - e !
. Bolt f? j]7]7273!]&i-\-§§§§<§§§% Bolt !
» '-’ kA T - e J
vod Allen Key  wood Button
W Button '
' ) . r h i ;
Boit _ > Barrel Nut Table Top Banel Nut? __ Boit 1
. s
i Table Apron - kS l
¢ Page 1of1 )




m xoq ajesedas e apisul paoed s ssejb QS. ajqel ayl @

3|qel 990D |

uoIsod U3ISE) 9y |2A3| 03
‘19|9A3| 1004 3|geIsnipe ay3 uing

T d=3s

a|qeL pu3

&

_ sse|n doj sjqel

awel} 2|1qel aul
B:oao“m_nmummm_mmﬁx_u_

¢ dais

s|qelL jo Jied duo (1))

M enassy 319V VINVHVE

C




DRAWER

"ASSEMBLY INSTRUCTIONS

DONCO

TRADING CUMPARY

Hardware for Assembly

@ o

JCB Screws 60 mm JCB Screws 18 mm Barrel nuts Washer : Allen Key
3 pes for chair 4 pcs for chair ©3 pes for chair @ 4 pcs for chair @
3 pes for lounger twin & full 4 pcs for lounger twin & full 3 pes for lounger twin & full” 4 pes for lounger twin & full 1 pe for All size
. 6 pes for full & queen 8 pes for full & queen & pes for full & queen 8 pes for full & queen :
Parts Per Drawer .

3. Back Panel ..... 1 Pc for Chair

Chair & Lounger Twin/full size - One Drawer :
1 Pc for Lounger Twin & Lounger Full

Full & Queen Size - Two Drawer !
: 2 Pes For Full & Queen E

1, Front Panel ..... 1 Pc for Chair . 4, Bottom Brace .. 1 Pc for Chair }

1Pc for Lounger Twin & Lounger Full 1 Pc for Lounger Twin & Lounger Full
J 2 Pes For Full & Queen 2 Pes For Full & Queen I
1, Side Panef ..... 2 Pcs for‘ Chair . 5. Bottom Panel L 1Pc forl Chair i

2 Pcs for Lounger Twin & Lounger Full 1 Pc for Lounger Twin & Lounger Full

4 Pes For Full & Queen 2 Pes For Full & Queen ,

i )

1, Step ) . 2. Step '
Fit the side Panels to the Back Panel, use 60mm Bolts Slide in the bottom panel as shown along
to attach Side panel in place, but don't fully thighten the grooves on the side panels.
these yet.,

Attach Bottom Brace to Back Panel, use 60mm Bolt
and Barrelnut as shown.

18mm Bolt

Don't fully thighten the bolt,
leave them a bit loose, to make
fitting the front panel easier

3. Step

Fit the side panels to the drawer
front, fitting dowels in the holes.
Use two 18mm belts to attach
the side panel in place.




| D 0 N C 0 FUTON ACCESSORIES This. instruction Is for
Chair and Loveseat
‘ TRADING COMPANY 0 l l o MAN size Ottoman.
‘ " 0200

@) Assembied view

1P
LJ\ Chair

u J Ottoman

Loveseat
Ottoman

@ Parts in this box )

L ]

E

L)

60rmm Bolts Allen Key
" A x 8 Pieces,, x 1 Piece.

' LI ] _

T

Barrel Nuts ~ Wood Buttons
Platform 1 Piece Leg Frame 2 Pieces . x 8 Pieces x 8 Pieces
@ Assembly Procedure )
1. Tum Oftoman Platform upside down as shown on diagram. o S
Be sure that the Platform is laying on a flat smooth surface. Helpful Tips: Fastening of Bolts
Check that alt holes are free of
2. Attach Leg Frame to the Side rails using Bolts 4 wood ch?p: and sa:rd?,sfe °

and Barrel nuts. - LEAVE BOLTS VERY LOOSE! A screwdriver wil help in aligning
the Barrel Nut hole with the Bolt.

Screw the Bolt in gently to avoid
siripping the threads.

3. When all parts are assembied, gently tighten ail
the Bolts to secure all parts. v

4. Finally, push or gently tap Wood Buttons into the Bolt Holes

\

Platform

J Sticker facing the floor Wood Buttons

Page 1 of 1 )




ey woddng

5207 - ma19% poo

i

SalempleH

Jieyg voddng

Il

-

[E

QR IOUTA!

= e ]

|/

Vﬁxurw dn apts sty

Sieg

pooBase) /«

- !;/.-. e

<J

)

A
\ _(wum poo

1932815 dn apis STYT-

QUIRI] JOLITN /
. A

PO0B3SEY) 51} OJUO SWel] JIOLIA SUIXI]

o!
T

wﬂoﬂn—oﬂuumﬁw [quIassy

SUIEI ] JOIITIA e[}




KYOTO MIRROR FRAME

Please remove the hooks that are attached on the mirror if you want
to change the hanging position from potrait to landscape.To change
hook position, use predrilled hole as shown below.

Use Philip screw driver to remove hook
and reattach accordingly.

Hook

/ Predrill Hole

+0e

+0+

Q *Not Included

e
*

Fig. 2 : Landscape Position

Fig. 1: Potrait Position




AMSTERDAM MIRROR FRAME

Please remove the hooks that are attached on the mirror if you want
to change the hanging position from potrait to landscape.To change
hook position, use predrilled hole as shown below.

Use Philip screw driver to remove hook
and reattach accordingly.

Hook
/ Predrill Hole
é *Not Included l
3 *
-9
<
+i i

Fig. 2 : Landscape Position

" Fig. 1 : Potrait Position




